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LOGIC AND PHILOSOPHY

Full Marks : 100
Pass Marks : 30

Time : 3 hours

The figures in the margin indicate full marks for the questions

ALLOTMENT OF MARKS

Q. No. 1 carries I mark each : 15427 =""12
Q. Nos. 2 to 13 carry 2 marks each i Pxil2i= 24
Q. Nos. 14 to 23 carry 4 marks each . 4x10 = 40
Q. Nos. 24 to 27 carry 6 marks each - 6x4 = 24

Total = 100
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(2) (3)

1. Answer the following as directed :
g 1x12=12 (c) There is no distribution of term in proposition.
wore frarcarEs fotipiR Tes o ( Fill in the blank )
Aot FakEReskE Teg 718 : TS (AT AW Y A |
Hiry afed e fom (= o o[ )
_ 50 Gl % O = AN
(a) Logic is an art / a science / both science and art. ( e o el )
( Choose the correct answer )
: EIRIeIDIC A CIRCHERIGE S]]
i@ For / MW [ o ure {wm TeR | | B3 !
(o= Teqihl AR Sferea ) ( " )
wRem T [ oW [ 36 932 Rem Tt |
(&= Teh @z e )
gﬁﬁ%ﬁqHI3M§1/ﬁﬁﬂﬂ' g o fafem Gidey . ,
/ . ' (d) Either Radhakrishnan is a philosopher or a politician. It is an
(e T Hre fag) example of disjunctive proposition / conjunctive proposition.
( Choose the correct answer )
(b) The copula of a proposition is in the past / present / future YFEA 2 G TNF e[ GO | G301 ﬁw P™A9 /
tense. SRS 69 SHIRIA | '
( Choose the correct answer ) (wm TeTeh! AR Sferean )
o1 TR Sore / T / SRR 7% 216 |
ALFHET T T T qefeRy | «ft g3l [T
(o= Teach! 1f Sferear ) JER / R T
1/ TRAES IDCR Tz |

TR TRAGE ore / T [/ SR ey e | (W= oAl (RS )

(wm TRl (AR e )
mmmﬁwﬁﬁm@;ﬁ@ﬁrﬁﬁ]%ﬁtﬁﬁmm/

WWWW@T/W/@%WWI TrTeRan s R
( e fopmmerelt T’ fogm ) (78 frrr wrEE T R )
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(4) (5,

(e) In immediate inference, the conclusion is deduced from one /

(g) Mention any one valid mood of second figure.
two / three premise(s).

Hom Tkgma R @ @b Gy IS Toad 91
A8 TRECTH (T (I Gfd (34 S Tray Tl |
Ay gty S fRas A R o T |

( Choose the correct answer )

ST SRS FrRrgs! <1/ g5/ R SR o fiep

27 |
(7 TeTchy I Sferear ) (h) What will be the truth-value of p V g, if both pand g are false?
' : 7 ST 7§ 232
wmwﬁm@ﬁaﬁ/ﬁ/mwcwﬁgw p F q TSEE TS TE p v g T TN
=

p R q TR TG TA p v g~ T I ?

(= Teafs |
B G\Iﬁpmqaﬂﬁ%ﬁ}ﬁﬁmmpvqﬁmmwﬁ??
YTHHT A ET . (i) What is the derivative meaning of the word ‘epistemology !
(& e wrRE g ) ‘Epistemology’ *RibrR Jeeifesre &g & 7
‘Epistemology’ *if6q Jjeeifesrs w1 F1 2

‘Epistemology’ ®iErEf s it A?

) The predicate of the conclusion of a syliogisrn is called major

R tenm / mainor term / uddle:term. () Who is the founder of Sarmkhya Philosophy?

( Choose the correct answer ) SR Y 2lfSvrel @1 2
T SN Pt Reme e / omeem [ c@gom @ | R e efedbrel ¢ 2
(= TeChl AR Sferey ) e T TR RRET gt

TR SRR PIATER e e / opspory [ RPMIAE (k) State any one point of difference between Rationalism and

| Empiricism.

(o= Tedlb @iz IS )

< I SREST e gl R G @Bl A1 S
WWW%WMWW/%@@W/ I 4R ARSI g cq AT D AN SO A
TSR HiGIe|1 g S| TerE S e ﬁrﬁamwmf@wmwﬁaﬁmv@
(1 Rt w1 Rig ) fer
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(6) (7))
(I) How many Pramanas are accepted in Nyaya Philosophy? 5. Define class membership proposition with example. 1+1=2
TR TS (2B A T 9 = 9 THRAPTR (IR STl o kel A |
R fee A% 2 Frer v 7 2 TIRIPTR, I TSl I5CE TR WIS |
=T NSRRI A STHTIRE TR ) T o T AR gt R e
2. z\:‘-j;:o the name of two lt?gicians who have contributed in th 6. Convert the following propositions : 2
pment of modern logic. & 5 oo Wl IS ST P
S R TS S s e i A e R o6 STReT e
wiﬁﬁw&@mﬁwwwmwﬁmmmﬂ“ e TATFETHRE! FeH
e IReffEme s foEm gy e SRFETRRY 5 R (a) All philosophers are wise.
sice WA 28w |
3. State two advantages of the use of symbo]s i, logic. 5 ETW‘F{W;@@?%|
T 2SN Eﬁ {{ﬁtﬂ e (b) Some scientists are poets.
e 28 IR 7o R ToEm iy T (el = R |
SRR Jei aEEEE A a f oo (T 2o 7
CIRERTINRIEINASIB IR By
4. Classify proposition according to quality, 5 7. Define middle term with example. Lel=2
@9 P o9 e T | THRETTE, (TP K Ty |
39 S o0 cfARSTerE P | THIEAPTR (RPICT K Tl |
T e sty e T | o A W RS g
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8
8. Gi
ive an example of fallacy of four terms, ) 13. What is realism? )
o=l (WIET 9B Twrzg
¥ - of T | o
Gk (AQ[AE R :
P 6 TR WS | T 2
e TR T RS s o e e
: : 14. What is symbolic logic? State two points of difference between
9. Statet t :
State two points of difference between logical constant and varigbles. 2 traditional logic and symbolic logic. 2+2=4
IR SR A #AREET T 1B N6 Soms 7 ) AET SHRER I [ @ cREeEeTe SHEE i AT
oI SREA GR AACE T 7fp w12 Tomy vy | SHREE AGE YOI 19 SeAY 0|
et feam TR Hierrg i s wrefy for ST SEREH e T @R CFRES SHREH GR AP
' SRR Woy 76 N SCEd I |
gﬁﬁﬁﬂﬁrqw A7 TS ﬂﬁ-ﬂ%‘ﬁl’ﬂﬂ Eﬁ-ﬁﬁiilqmﬁ
10. Define conjunctive function with example g o T 333[ =L i
THEIPTR SRS Feiwd K@ Ty ' 1+1=2 g bl
R SR AT | -
THIZATTR, FRCATEGP T SRS\ 718 | 15. Explain Four-fold Scheme of pmpositibn. 4
FTEST SIYTH A go e B o T ST 11 <441 |
ToeR S R g e |
11. Write the name of two empiricist PhilOSOPhers st o fererifRemntt oma e e T
LGl wifewer A A e 2 ' 16. Reduce the following sentences into strict logical form : 4
& SfSerer AECEE W T | TGO ATPTIRE SRS Toeige] FoIET I -
T e e wEehfif g fer) Aqva ISR SHRETES g5 FweEd I
TrEER AT JRERRRER i ST e
12. Define Pirvavat Anumana with exampje (a) Learned are honoured everywhere.
g S |
THIERPTE, 2R S SRE T SRERGTRETIEE
WWWW@@ﬁﬁﬁﬁﬁml L2 G N
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17.

(10 )

(b) Many persons are not present at the meeting,
2L AR FeIT® TeifF AR |
R e Srelbes weAfEe & |
T A AR JSTOEREH |

(c) Nobody can do it.
(FICAS G3CO! FRA RIS |
(T3 96l FHCO AT 1 |

@ el q1EE g

(d) Only graduates are eligible for the post.
@9 SRR 2 T A @0 |
Fqe] FoFdI2 G2 A G 197 |

Graduates RIS & AT 9TE™ 3|y

Define proposition according to traditiong) I

parts of a logical proposition. 8IC. Explaip different

(11 )

18. State any four general rules of pure categorical syllogism.

S FEeers e R @i S SeRe s ToEd 390 |
S FIRCeRF IR @ @I bRG TR FWE Sea I |
@Wﬁﬁmﬁamﬁamﬁwmﬁnml

19. Write a short note on figure of a syllogism.
T L o o1 B (B e |
TR TG T @b AR DI CTes |

=rrafy 2remef g AR g fer |

20. Reduce any one of the following syllogistic arguments into strict
logical form and test its validity :

fEfRe TH SR R @I @b SHRErPTEe wefe RTe 9

ARRRS TR SRS @ @ @S sPRErpre wel 2RI
F@ 4R 97 399l e ey

el AT SRFERRN S RawmE Hedet ReerEe Tl 8

(a) Aristotle was a great logician, because he was a philosopher and
all great logicians are philosophers.

ARE’5 o TleT Tk e, IR (96 @ AR S ST

SRNICAT IRT F | o HE e
%ﬂiﬁ@m %?ﬁlm T TG | g RSP e mmmw R, IR ol e e @a
m%ﬁfmﬂm”@mwm mmmwmﬁwmwﬁﬁﬁmm
REIRNEY gftperear ffee wmeitfirgy
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(12 ) B (13 )

24. What is the derivative meaning of the word ‘logic’? Discuss the utility

(b) He is not superstitious, because uneducated persons
are of the study of logic. | 2+4=6

superstitious and he is not uneducated.

@@Wm,mwwwﬁéwﬁw Logic’ *FBR Feoifeere oy 7 SHRER SgwE SAier e

RS l‘ RIGIRIEEIN
o srfarsh =, PR AR i) 43 TR wfifrs o | Logic’ *Fba Jeeifesre el o THREM HCTH Toforer A
ferorret @iy BRMERR TST, THAT et N ST T |
AR Ferorret Heiterr M T2 T ek
‘Logic’ ey 1 aiifor m? ghefframt frft amie wmewm|
21. Write a short note on metaphysics. Or / 72/ |=[1 / Tl
4
s sl afb 5 (BT o< | Define proposition according to modern logic. Explain different
forms of compound proposition with example. 2+4=6
SR e @ TRERG BIFT (e |
. ; - WWWWWW@TWIﬁWWWW
i1 e for
fefanirar=iti gea fom T TS < 4 | |
22. Explain any four characteristics of Indian ph;) SR = TR FocH wives] s | £ =R T
10sophy, " THRGePTR A Al |
[ se wfa R e SIfRo! GRS I 3 AR g e
me™ Tgﬁﬁi?aiilﬂl#ﬁ N CIDIEIE] P | CIPICIIE
e T (A I BRI CIET W0 Iy | FamERE RSt P fr |
e T safasmEn A e for) |
23. Distinguish between Svarthanumana and p, . 25, Define syllogism. Describe the structure of pure categorical
ararthanumana syllogism- 2+4=6
FIfie ST RIS e N e ' 4
ol i v ke T | S Frgorss sy a0 9 T
el 3R oRIFEIC JC6 AN (e | ‘
¢SEl IS | S ofell CA1
e eRfEm®  fam (Svarthanumang) = CIGERN ecoms w70 S
(Pararthanumana )i TSIE BRIT HEN Wﬂ’[\w i =t 95 e T HREATy A g e P ferl
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( 14 ) ( 15 )

Or / F1&1 / &1311 / war 27. What is Rationalism? How does Locke criticise Descartes 1nnaltis-~6
ideas? Discuss.

Give examples of each of the valid moods of the third figure 6 FfcR, SICEDA
: EiedReie ez i CRN IR USLEL )
PO REIT 2fSehl (39 IR Bt Trrmaer fimy | s 17
41 |
S TR 2l GRS < S s i B2 WA AR PO (G Koo R A FACE,
WWW@WW&%W%&@@ qmwzﬁ'w '

e T get? e TR e e awd i s

26. Describe the characteristics of symbolic logic,

6
ISP PG CABPTYZ Q714 3441 | Or / =izar / &%d1 / Tl
EISAISe ST WQ: %{:Wm o What is Idealism? Explain any four characteristics of Idealism. 2+4=6
- g ST T CAICE 2 ST i (el B! CApiE e |
OIS : ‘
Or / 9124 / 581 / warr e T <0 7 SRAH 1 (Tl B CafE T Al |
' STaRasTET WS STgAE
Construct truth table for any three of the following R et gt (resiar) A g@?{? gt
forms and determine whether it is tautology’ COmIadI;Osmonal fx
contingent : CtOIzy 201"
+2+2=6
mewwﬁmmﬁw% i
e TR FORTS, T G IR firy oy M w1
FaflRe wTee SRR T A Ry gy
G iR FoTer, Fosfa 7 AHMEIARAE o o ?;?W SIS Al
TR T AR AEHRETRE SRy gy o
T AR At g del, Wﬁﬁﬁmmmmmﬁmwﬁ
(a) (p-q)-(pD~q)
(b) ~pvig>D~Dp)
(c) (pDgl=(~g>D~p
(d) pD(p-q)
24C
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